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Câu 1:  [1D1-3.1-3] (GKI - K11 - STRONG - Năm 2021 - 2022) Giải phương trình 
[image: image1.wmf]cotsin1tan.tan4

2

x

xxx

æö

++=

ç÷

èø


Lời giải
ĐK: 
[image: image2.wmf]sin0

cos0

2

cos0

x

x

x

¹

ì

ï

ï

¹

í

ï

¹

ï

î

 
[image: image3.wmf](

)

sin20

,  

2

cos0

2

x

k

xk

x

p

¹

ì

ï

ÛÛ¹Î

í

¹

ï

î

¢

 (*)

[image: image4.wmf]cotsin1tan.tan4

2

x

xxx

æö

++=

ç÷

èø



[image: image5.wmf]sin

cossin

2

sin1.4

sincos

cos

2

x

xx

x

x

xx

æö

ç÷

Û++=

ç÷

ç÷

èø
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Vậy, nghiệm của phương trình là 
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Câu 2:  [1D1-3.1-3] (GKI - K11 - STRONG - Năm 2021 - 2022) Số nghiệm thuộc đoạn 
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Chọn B
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Vậy số nghiệm của phương trình là 
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